Bowling Quiz 4







Name _______________________

 1. Simplify (x + 4)(x – 4) 
     a. x2 – 8x – 16 

b. x2 + 16 


c. x2 + 8x – 16 

d. x2 – 16

2. Grandpa Joe has a square garden. He decides to increase the width by 3 feet and to increase the length by 5 feet. The area of the new garden is 63 square feet. What is the width of the new garden?
3. Mr. Duggins’ ride to school is 4 minutes more than 1/3 Mr. Kennedy’s travel time. Which graph shows the possible times of Mr. Duggins’ and Mr. Kennedy’s rides to school?
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4. Frankie and Arthur are both saving money for their vacation. The table below shows the models for the amount of money Frankie and Arthur saved after x weeks. After how many weeks will Frankie and Arthur have the same amount of money?
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a. 2 weeks 


b. 3 weeks









c. 4 weeks 


d. 5 weeks 

5. Find the perimeter of the following rectangle. 
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a. 11x – 2


b. 24x2 – 6x






    3x









c. 22x2 – 4 
  

d. 22x – 4


      8x – 2 
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6. What does the y-intercept represent in the following table?
     a. The maximum temperature.

     b. The decrease in chirps per minute as the temperature changes.

     c. The increase in chirps per minute as the temperature changes.

     d. The number of chirps when the temperature is zero.
7. A new boat is purchased for $8000. If V = 8000(.80)x gives the boat’s value after x years, about how long will it take for the car to be worth half its purchase price?

     a. 2 years

b. 4 years


c. 3 years


d. 5 years
8. Calculate the rate of change for the function f(x) = 3x from 2 to 5.

9. The scatter plot shows the number of arithmetic errors 10 students made on a quiz and the amount of time the students took to complete the quiz. Which describes the relationship between the number of arithmetic errors the students made and the amount of time the students took to complete the quiz?
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       a. There is a strong positive relationship between the variables.





       b. There is a strong negative relationship between the variables.





       c. There is a weak positive relationship between the variables.





       d. There is a weak negative relationship between the variables.
10. Which is an equation or the line that passes through (1, 3) and is parallel to RS.
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a. y = 2x + 1 


b. y = 2x + 3 









c. y = 2x + 2 


d. y = - ½ x + 5/2 

11. Sarah bought 5 doughnuts and 4 cookies for a total of $20.  If x represents doughnuts and y represents cookies, which of the following gives a graph of the function?
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12. Terry is given two salary options by his employer. The first option is a starting salary of $20,000 that increases by $500 each year. The second option is a starting salary of $20,000 that increases by 2.2% each year he is with the company. How many years will Terry have to be with the company for the salary with the second option to be greater than the salary with the first option?

     a. 11


b. 12



c. 13



d. 14
13. Find the area of the shaded region. 
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14. Which table is not a linear function?
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15. The amount of wildflowers in Mr. Hunter’s yard triples every month. On the first of May, he had 20 wildflowers. If W is the amount of wildflowers and m is the number of months since May, which of the following equations best models this situation?
     a. W = 20m + 3 

b. W = 3m + 20 

c. W = 20(3)m 

d. W = 3(20)m
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16. The table below shows the population of several cities. What would happen to the data set if Elizabethtown, with a population of 3500, was added to the data?








a. The standard deviation decreases.







b. The interquartile range decreases.








c. The mean increases.








d. The range decreases.
17. If the perimeter is 16x + 4, then which expression represents the missing side?






a. 3x – 5 



b. 3x + 3

     8x + 2







c. 4x + 5 



d. 3x + 5 


       5x – 3 
18. The Athletic Boosters sells t-shirts to raise money for the prom. The profit from sales of 20 short sleeve t-shirts and 50 long sleeve t-shirts is $215. Profit from sales of 10 short sleeve t-shirts and 40 long sleeve t-shirts is $160. How much profit do they earn for each long sleeve t-shirt sale?
19. Joey compared the y-intercept of the graph of the function f(x) = 2x + 3 to the y-intercept of the graph of the linear function that includes the points in the table below. What is the difference with the y-intercept of g(x) is subtracted from the y-intercept of f(x)?




a. -12 


b. -2


c. 2 


d. 12

20. What three consecutive integers have a sum of 33? 
